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FiE iEEFEIVNER =15 IMNBTHELE
818 2019/6/29 2019/6/29 2019/6/29 2019/6/29 2019/6/30 2019/6/30 2019/6/30
RE—REZ 12:57:00 13:42:00 14:35:00 15:30:00 10:10:00 11:18:00 12:23:00
T 4=y 2 B 13:20:30 14:10:00 15:04:50 15:57:19 10:48:54 11:57:40 13:00:20
=M=y 2 BEZ 13:26:52 14:25:00 15:19:50 16:10:00 11:03:54 12:04:00 13:15:20
x5 <Y <BY BY <HY <BY <Y <BY
A 90° 120° 120° 120° 110° 120° 120°
B 3.5m/s 3.5m/s 6.0m/s 6.5m/s 6.0m/s 7.0m/s 9.0m/s
b= 0.5m 0.5m 0.5m 0.5m 1.0m 1.0m 1.0m
L—R# 1R 2R 3R 4R 5R 6R 7R 8R
I ) —IESR FER O—R| FRVAETYIE— | Q—R| FSRVAET I8~ | Q— | F5RVAETYIE— | Q—R| SRV MET I8~ [Q—R| F5RVAETYE— | Q—R| FSRVAET I8~ [Q—R| F5RVAETIE— |3 — X
g Sail No AJLLR JL— SEA IR | BIE | BEIE | B | BIE | REIE | Saa | BB | RENE | B | BIE | BEIE | 15 | AEIE | REIE | 1SR | BB | RENE | B | BN | REIE | 1B | IE | BB | B
dtiEERE 4557|BTEE EadsEFN: 16 2| 14| 14 14 4 4 4 1 1 1 5 5 5 4 4 4 1 1 1 1 1 1
JbiEE RS 448 EA—F INFRET S 42 8] 10/ 10/ 10 3 3 3 9 9 9 8 8 8 12 12| 12 9 9 9 3 3 3
LiEERE 4161|)I[IHEH THEKX 89 15| 12| 12| 12| 13| 13| 13|DNF_|DNF 21|RET |RET 21 11| 11| 11 1] 11]  11|RET |RET 21
dbmE AL 4632| KFE 5% R T /EBM K 51 10 6 6 6 8 8 8 12| 12 12| 11| 11 1 8 8 8 6 6 6|RET |RET 21
LiEERE 4290/;5 )1 $A5R Rt 88 14 15| 15 15| 14| 14| 14| 13 13| 13[ 12| 12| 12| 13| 13| 13|DNC |DNC 21|RET |RET 21
FHEILEXS 4591 |[REHEE WIS 48 9 7 7 A O I Y 1 S B S B 9 9 9| 10/ 10[ 10 5 5 5 6 6 6
FHIEXRS 3545 A FLFHE 72 13 8 8 8| 12| 12| 12| 14| 14| 14| 10 10| 10| 15| 15/ 15| 13| 13| 13|RET |RET 21
EEITEKRS 3669| & H i A IS 40 6 4 4 4 10, 10/ 10 4 4 4 17| 17| 17 2 2 2 3 3 3|RET |RET 21
ERIEKRFE 3805 | [ ZBEE#E HEZA 106 16| 18| 18| 18| 17| 17| 17| 15| 15| 15|RET |RET 21| 14| 14| 14|RET |RET 21|DNC_[DNGC 21
IMEEREL K 4684 K4 BERHEF//NER 28 4 2 2 2 2 2 2 8 8 8 6 6 6 5 5 51 10/ 10[ 10 5 5 5
IMBRGRL R 4531 | E 2 {epkiEsE 41 7 5 5 5 15/ 15/ 15 3 3 3 7 7 7 9 9 9 2 2 2|RET |RET 21
IMBRERIKE 4376 | H T4 BERE 56 1l 1l 1] 1 7 7 7l 10l 10] 10| 14| 14| 14 6 6 6 8 8 8|DNF_|DNF 21
IMBEREIKE 4072|fRAA] &=F MIEARTF 106 16| 19 19| 19| 16| 16| 16| 16/ 16| 16| 13| 13| 13|RET |RET 21|DNC_|DNC 21|DNC_|DNC 21
IMBEFLRE RERE G ESZ BN RET//NER 119 19  17|PTP 20|DNF _|DNF 21|DNS |DNS 21] 15| 15| 15/DNF |DNF 21|DNC_|DNGC 21|DNC _[DNGC 21
JeXoB 3793|856 AR F0 HARE 69 12l 13 13| 13 6 6 6 7 7 7 1 1 1|RET |RET 21|DNC_|DNGC 21|DNC_|DNC 21
dtXoB 3789|iiEF FRAE 35 5 9 9 9 9 9 9 2 2 2 4 4 4 7 7 7 4 4 4|RET |RET 21
JtXKoB 3993|fEH i# X MNEHEET 23 3 3 3 3 5 5 5 5 5 5 3 3 3 3 3 3| 12| 12| 12 4 4 4
JtXoB 4075|HE H i85 =YHES 13 1 1 1 1 1 1 1 6 6 6 2 2 2 1 1 1 7 7 7 2 2 2
dLigE XS 4091 | BRES EBIBK/ R FHE 110 18| 16| 16| 16| 18| 18| 18| 18| 18| 18| 16| 16| 16|RET |RET 21|DNC_|DNC 21|DNC_|DNC 21
LiEERE 4012| EIFES R RREE /iR FH 119 200 20 20/ 20 19| 19| 19 17 17| 17|DNF |DNF 21|DNC _|DNC 21|DNC _|DNGC 21|DNC _[DNC 21
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RE—bEFZ 13:02:00 13:47:00 14:40:00 15:35:00 10:21:00 11:18:00
by T4 =y 2 B Z 13:28:58 14:16:28 15:12:33 16:06:45 11:06:07 12:13:50
IR IT1 =y 2 BFZ 13:32:08 14:19:45 15:17:22 16:21:45 11:21:07 12:28:50
X5 <BY <BY INFR <BY <BY <BY
B 90° 120° 120° 120° 110° 120°
JAE 3.5m/s 3.5m/s 6.0m/s 6.5m/s 6.0m/s 70m/s
BE 0.5m 0.5m 0.5m 0.5m 1.0m 1.0m
L—R# 1R 2R 3R 4R 5R 6R 7R 8R
I M) —IE$R FER O—2X| MRV - [Q—X| Frvarrer— |g—X| FRVaRer— [3—X| FRvarter— |g—X| BRVaEer— |3 —X| FRVAarer— |[g3—X| a—X
B Sail No AVLZR HL— BEta JER [ BB | RE | B | BIE | RIE | Bs | SIE | RE | B [ BB | R | 15 | BIE | RE | B | BIE | RE | 15 [ BB | REIE | 15 | BIE | BB | B
dbimE XS 30841 |HE HfliA K EE %5 4 5 1 1 1 1 1 1 1 1 1 1 1 1 1 2 2 2 1 1 1
JLiEEARE 31416 iR &= LR 12 2 4 4 4 4 4 4 2 2 2 2 2 2 1 1 1 3 3 3
dLimE RS 30801 | R S ik hFEIK 55 10[DNC |DNC 11[DNC_|DNC 11|DNC_|DNC 11[DNC _|DNC 11[DNC_|DNC 11[DNC _|DNC 11
JbiEE KE 30636 ;B FathiE i) AN B A 13 3 2 2 2 3 3 3 4 4 4 3 3 3 3 3 3 2 2 2
dbimE K 30020| = A AR SIS SR/ DEE T 20 4 3 3 3 2 2 2 6 6 6 5 5 5 4 4 4[RET |RET 11
IMBER RS 30420| %t & s} N 28 5 5 5 5 5 5 5 3 3 3 4 4 4|DNF_|DNF 11[DNC_|DNC 11
IMERREL K 9281| E RN HOAR 29 6 6 6 6 6 6 6 5 5 5 6 6 6 6 6 6|RET |RET 11
IMEERL RS 3099 B A ZfE ERFE/ RIHSE 30 7 7 7 7 8 7 7 7 7 7 7 7 7 5 5 5 4 4 4
dLimE X 29903| —KIEX HEHt 48 9 9 9 9|UFD_|UFD 14 9 9 9 8 8 8|RET |RET 11/[DNC_|DNC 11
dLimEXE 1HEER A8 HEak 46 8 8 8 8 9 8 8 8 8 8[DNF _|DNF 11|RET_|RET 11/DNC_|DNC 11




